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BENR NS 7))

[BHFIC2ROMBETHELIEZDFEANEE]

DEEFILL+HTHS
OFi02=0.5MDPEEP=8cmH20D £ & TSp02>90%

@miTHENEELTLNS
O&tEoOFHED, BEZTEIRML

O/ 8% = 140bpm

O 3 H7EL TLVELY (DOAS 5pg/kg/min.
DOB = 5pg/kg/min. NAD < 0.05ug/kg/min) st
GHHLRERNADS ATy
01 EHRSRE>5mi/kg

O4 B R & <15L/min |:> ALHEMICE
ORapid shallow breathing index (153 F ORI E$/ 1 E#RSE) Sl e
<105/min/L wEC,

O 7 S F— ADELY (pH>7.25)

@REIFR s A2— RO
CIPR 08 #if B £55 0038 Fl7a 56 AL
O —)— ok (FF RIEFFR) ALY

BEHFREHRELTLD
OFEHA LY
OERGTERIRBHEHLL
OEEZEMERHIL
OERGEERFIZEEDEN

[RlE 1

60t ({KAEE45kg)

4HRIfbZ% &S > Mm% 0A%ET A,
JUERRE FICATMHIKEEA RSN TULD,
ATFIR(EPCV EIRDTULD
ARHSATICRARINUTZ

TR FiO, & SUBF PEEP
PCV 0.3 1.0s 5 cmH,0
IRSUE TV IFIREIES | 32 EAYDBFRS

15 cmH,0 400 15 0.2s
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[Rl=E 1

R
TERRIA U
Jx>A)L 25ug/hr
RASS 0

BIR%R
PSS = AFRRL
AP 110/80 (MAP90) HR80bpm
RIERR
FRE30mL/hr

[RlE 1

Sp02 96% MFIf[EI£L1 5[]

PR IPIREE IR L
BT36.7E

<BYBRIDTRS RIRE >

pH

PaCO2

Pa02

HCO3

BE

Lac

7.382

40.9 mmHg

70 mmHg

23.9 mmol/L

1.2 mmol/L

9 mg/dL

Na

K

Cl

Ca

Hb

137 mEqg/L

4.0 mEq/L

103 mEq/L

1.19 mmol/L

12.5g/dL

ZDANICSBTZITWLWET
DIREREZLEXLLD

A TIFIE
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[RlE 2

CPAPT307&i%R%&
ET-—K FiO, PS PEEP
CPAP 0.3 0 cmH,0 5 cmH,0

IF0%[E]&824B] SpO2 93% HR100 AP120/82

ROEHFLZEAp =B IFIRES
RIEBRGTERL PYERZ UMD TLD
<BARIDEST RIRE>
pH PaCO2 Pa02 HCO3 BE Lac
7.280 50.8 mmHg | 63 mmHg 24.9 mmol/L | 1.2 mmol/L | 9 mg/dL
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